CWHYC N KOCUHYC CYMMbI
aprymMeHToB



sin(x +y) =sinx-cosy +cosx-siny

cos(x+y) =cosx-cosy—sinx-siny



[Tpnmep:

sin(x +y) =sinx-cosy+ cosx -siny
Bbluncantsb sin 75°, cos 75°.
PeweHwue:
75° = 45° + 30°
sin75° = sin(45° + 30°)
sin75° = sin45° - cos 30° + cos 45° - sin 30°
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sin75° =
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OTBerT: sin 75° =



cos(x+y)=cosx-cosy—sinx-siny

75° = 45° 4+ 30°

cos 75° = cos(45° + 30°)
cos 75° = cos 45° - cos 30° —sin45° - sin 30°
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cos 75° =

OTBeT: cos 75° = \/8:/5.




[Tpnmep:

sin(x +y) =sinx-cosy+ cosx-siny
. [ 1 .
W1poCTUTL Sin (5 + a) —sina.

PelwweHwue:

Sin(z+ a) = Sinz-cosa+ Cosz-sina = ECoscr+lsina
3 3 3 2 2
Sin(z+ a) —lsina = ECoscr +lsina—lsina =£COSC(
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OTtBeT: Sin E"‘a —ESlna:?COSa.



[Tpumep:

cos(x+y) =cosx-cosy—sinx-siny
T V2 .

W1pPOCTUTbL COS (a + Z) + — sina.
PeweHune:

T T , T V2 V2 ,
cos(a+Z):cosa-cosZ—Slna-SmZ:7cosa——sma

Ty V2 V2 V2 V2 V2
cos(a+z)+7smcx=7cosa—7smcx+7smcx:—cosa
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OTtBeT:COS (a: -+ Z) -+ 7sm a = ~ COoS .



[Tpumep:

,110 Ka3dTb TOXAECTBO

sin(a + B) + sin(—a) - cos(—p) = sin B - cos a.

[loKa3aTenbCcTBO:
sinfa + f) =sina -cosfB +cosa -sinf
sin(—a) = —sina

cos(—f) = cos
sina-cosf +cosa-sinff —sina-cosff =cosa-sinf
cosa-sinfl =sinp - cos a.



sinx -cosy+cosx-siny = sin(x +y)
JdoKa3aTb TOXOECTBO

sin5x - cos3x + cos5x - sin 3x = sin 8x.

J10Ka3aTenbCTBO:

sin5x - cos 3x + cos 5x - sin 3x = sin(5x + 3x) = sin 8x.



cos(x+y)=cosx-cosy—sinx-siny
Rantn 3HayeHue Bblpa*XeHUA cos 36° - cos 24° — sin 36° - sin 24°.
PelweHwue:
cos 36° - cos 24° — sin 36° - sin 24° = cos(36° + 24°) = cos 60° = %
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[TIpnmep:

sin(x +y) =sinx-cosy+ cosx-siny
: . T [ . T
Bblymcnntb sin— - COS + COS — - Sin—.
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PeweHue:
T T T T T T . T V3
Slnﬁ cosz+cosﬁ San_Sll’l(lz 4) sm§:7
V3

OTBeT: —.
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[Tpnmep:

sin(x +y) =sinx-cosy+ cosx-siny

RewunTb ypaBHeHUe Sin2x - cos x + cos 2x - sinx = 1.

PeweHwue:

sin(2x + x) = sin 3x
sin3x =1
3x=§+2nk,kEZ

T 21k

x=—+—k€Z
6 3 ;
OTBET:x=%+2§,kEZ.



[TIpnmep:

sin(x +y) =sinx-cosy+ cosx -siny
. 3 T " . T
[dycTb sint = o 0<t< P’ Hantu sin (§+ t).

PeweHue:
] (n+t)— i~ t+ cos— - i t_\/g t+1 nt
sin 2 —Sm3 coS 6053 sint = > coS ZSm
. 3\ |16 4
cost =1 —sin2t= |1— =) = |35=3
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[Tpumep:

HanTu HaMMeHbLUUN NONOXKUTENbHbBIN KOPEHb YPaBHEHUA B rpaaycax
L)

sinx - cos 45° 4+ cos x - sin 45° = cos 17° - cos 13° — sin 17° - sin 13°.
N\
PelleHue: J \
sin x - cos 45° + cos x - sin 45° = sin(x + 45°) ¥
. . V3

cos 17° - cos 13° — sin 17° - sin 13° = cos(17° + 13°) = cos 30° = -

V3
sin(x + 45°) = -

x + 45° = 60° + 360°k, k € Z
x + 45° = 120° + 360°k, k € Z
x = 15°+ 360°k, k € Z

x =75°+360%, k € Z

NTreT: 1R°



[Tpnmep:
sin(x +y) =sinx-cosy+ cosx -siny

MaliT 3HaueHue BbipaxKeHusa sin(m + a).

PeweHue:

sinflm+a) =sinm-cosa+cosm-sina=0-cosa—1-sina=—sina

OTseT:sin(mt + @) = —sin«a.



